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ENGLISH LANGUAGE
1. Find the one which is best expresses the 

meaning of the given word.
 Compatible
 (a) Suited (b) Inconsistent
	 (c)	 Unfitted	 (d)	 Conflictive
2. Find the word opposite in meaning to the given 

word.
 Abrupt
 (a) Quick (b) Rushing
 (c) Gradual (d) Hasty
3. Find the noun form of the word.
 Compel
 (a) Compulsory (b) Compulsion
 (c) Compeller (d) Compellingly
4. Find the verb form of the word.
 Valid
 (a) Validly (b) Validation
 (c) Validates (d) Validate
5. Find the plural form of the word.
 Sheep
 (a) Sheep (b) Sheeps
 (c) Sheepish (d) Sheepishly
6. Choose the one which can be substituted for the 

given sentence.
 One who can throw his voice
 (a) Omnipotent (b) Omniscient
 (c) Omnipresent (d) Ventriloquist
7. Find the correctly spelt word.
 (a) Genatics (b) Sterage
 (c) Grossest (d) Granaite
8. Find the meaning of the idiom/phrase.
 Song and dance
 (a) to have an interest in music and dance
 (b) to make an unnecessary fuss
 (c) to be excited
 (d) to treat someone with all due respect

 INDIAN AIR FORCE ,;jeSu xzqi 'Y'
SOLVED PAPER - 2020 ( Memory Based)

9. The following sentence has been given in Active/
Passive voice. From the given alternatives, 
choose the one which best expresses the given 
sentence in Passive /Active voice.

 My niece wrote a beautiful poem.
 (a) A beautiful poem was written by my niece.
 (b)  A beautiful poem has been written by my 

niece.
 (c)  A beautiful poem had been written by my 

niece.
 (d)  A poem which was beautiful had been 

written by my niece.
10. The following sentence has been given in direct/

indirect speech. From the given alternatives, 
choose the one which best expresses the given 
sentence in direct/indirect speech.

 Pallavi said, “I will go to Agra tomorrow”.
 (a)  Pallavi said that she would go to Agra the 

next day.
 (b) Pallavi said she would go to Agra tomorrow.
 (c)  Pallavi said she will be going to Agra the 

next day.
 (d)  Pallavi said that she would go to Agra 

tomorrow.

Directions (Qs. 11-12) : In the following question, 
some parts of the sentence have errors and some have 
none. Find out which part of a sentence has an error. 
The number of that part is your answer. If a sentence is 
free from error, then your answer is (D) i.e. No Error..

11. A person I met (A) /in the theatre (B)/ was the 
playwright himself (C). / No Error (D).

 (a) (A) (b) (B)
 (c) (C) (d) (D)
12. Zoya Akhtar, who conceived, co-authored (A)/

and	directed	a	number	of	good	films,	was(B)/	
one	of	India’s	most	talented	film	maker.	(C)/	No	
Error (D).

 (a) (A) (b) (B)
 (c) (C) (d) (D)
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Directions (Qs. 13-14) : Given below are four 
jumbled sentences. Out of the given options pick the 
one that gives their correct order.

13. The white American underclass is in thrall
 P: and used heroin needles
	 Q:	to	a	vicious,	selfish	culture
 R: whose main products are misery
 (a) PQR (b) QRP
 (c) RPQ (d) RQP
14.	 A	certified,	verifiable,
 P: would be a valuable
 Q: all-purpose identity card
 R: document for many people
 (a) QPR (b) RQP
 (c) PQR (d) PRQ

Directions (Qs. 15-16) : In the following questions, 
sentences are given with blanks to be filled in with 
an appropriate and suitable word. Four alternatives 
are suggested for each question. Choose the correct 
alternative out of the four alternatives.

15. The man __________ heavy losses in his 
investments.

 (a) raised (b) reaped
 (c) earned (d) incurred
16.	 It	is	very	difficult	for	him	to	give	up	smoking	

as he is an __________ smoker.
 (a) Indifferent  (b) Inveterate
 (c) Insensitive (d) Innate

Directions (Qs. 17-20) : Read the following passage 
carefully and choose the best answer to each question 
out of the four given alternatives.

On a surface which is free from obstacles, such as a 
clear road or path, only two or three species of snakes 
can hope to catch up with a human being, even if they 
are foolish to try. A snake seems to move very fast 
but its movements are deceptive. In spite to the swift, 
wave-like motions of its body, the snake crawls along 
the ground at no more than the speed of a man’s walk. 
It may, however, have an advantage inside a jungle, 
where the progress of a man is obstructed by thorny 
bushes. But in such places, the footsteps of a man 
are usually more than enough to warn snakes to keep 

away. Although they have no ears of the usual kind, 
they can feel slight vibrations of the ground through 
their bodies, and thus get an early warning of danger.
17. What is deceptive about the snake is its?
 (a) Speed (b) Crawling
 (c) Sense of direction (d) Movement
18. The snake has an advantage over men inside a 

jungle, because there?
 (a) it can crawl faster
 (b) Man’s movement is obstructed
 (c) It is dark
 (d) It gets warning
19. What helps snakes to receive advance warning 

is their sensitivity to?
 (a) Light 
 (b) Smell
 (c) Darkness 
 (d) Movements
20. The speed at which a snake normally moves is?
 (a) Less than man’s
 (b) Greater than man’s
 (c) As fast as that of a man
 (d) As deceptive as that of a man

rdZ'kfDRk ,oa lkekU; tkx:drk
21. fn, x, vuqØe esa yqIr la[;k Kkr dhft,A
 6 10 26
 11 5 21
 8 8 ?
 (a) 22 
 (b) 24
 (c) 16 
 (d) 20
22. eksgu 7 fdeh iwoZ esa lkbfdy pykrk gS] fiQj nf{k.k 

dh vksj eqM+rk gS vkSj 12 fdeh lkbfdy pykrk gS] 
fiQj if'pe dh vksj eqM+rk gS vkSj 7 fdeh lkbfdy 
pykrk gS] fiQj viuh ckbZa vksj eqM+rk gS vkSj 10 
fdeh lkbfdy pykrk gSA vc og viuh çkjafHkd 
fLFkfr ds lanHkZ esa fdl LFkku ij gS\

 (a) 22 fdyksehVj nf{k.k
 (b) 2 fdyksehVj nf{k.k
 (c) 22 fdyksehVj iwoZ esa
 (d) 2 fdyksehVj iwoZ esa
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23. bZ'kk vius dk;ZLFky ij tkus ds fy, esjs ?kj ls VSDlh 

fdjk, ij ysrh gSA 'kgj esa fdjk;k ç.kkyh bl çdkj 
gS fd] bZ'kk us 25 #i;s vkSj mlds ckn bZ'kk us 6 
#i;s çfr fdyksehVj 'kqYd fy;kA ;fn esjk dk;ZLFky 
esjs ?kj ls 10 fdeh nwj gS] vxj bZ'kk VSDlh ls tkrh 
gS rks rks bZ'kk dks D;k jkf'k vnk djuh gksxh\

 (a) 64 #i, (b) 89 #i,
 (c) 90 #i, (d) 79 #i,
24. fn, x, osu vkjs• Ldwy ds Nk=kksa ds ,d lewg ds 

•k| inkFkZ dks n'kkZrk gSA rhu inkFkZ gSa% A&cxZj] 
B&pus] C& fiTtkA fdrus Nk=k de&ls&de ,d 
inkFkZ •krs gSa\

 (a) 15 (b) 21
 (c) 30 (d) 25
25. fn, x, fodYiksa esa ls lgh fodYi pqusa tks  Ük`a•yk 

dks iwjk djsxkA
 13, 32, 24, 43, 35, ? , 46, 65, 57, 76
 (a) 45 (b) 52
 (c) 54 (d) 55
26. fuEufyf•r ç'u esa] fn, x, v{kj  Ükà•yk esa varjky 

ij Øfed :i ls j•s x, gSaA v{kjksa dk dkSu&lk 
,d lewg bls iwjk djsxk\

 pfg _ _ pff _ ghhp _ pff _ gggh _ h
 (a) pghhfp (b) ghhhh
 (c) hpgpfh (d) hgpfhp
27. jkgqy ds firk dh iRuh dh bdykSrh cgw dh csVh 

jkgqy ls dSls lacaf/r gS\
 (a) ifr (b) iq=k
 (c) firk (d) nknk th
28. yM+dksa dh ,d iafDr esa lquhy dh fLFkfr ck,¡ ls 20osa 

LFkku ij gS vkSj nk;sa ls nhid dh fLFkfr 36osa LFkku 
ij gSA tc ;s nksuksa vkil esa viuk LFkku vny&cny 
dj ysrs gSa] rks lquhy ckbZa vksj ls 28osa LFkku ij vk 
tkrk gSA crkb, fd iafDr esa fdrus yM+ds gSa\

 (a) 52 (b) 63
 (c) 59 (d) 48

29. ;fn – dk vFkZ ÷] + dk vFkZ ×] ÷ dk vFkZ gS 
–] × dk vFkZ +] rks fuEu esa ls dkSu&lk lehdj.k 
lR; gS\

 (a) 52 ÷ 4 + 5 × 8 – 2 = 36
 (b) 43 × 7 ÷ 5 + 4 – 8 = 25
 (c) 36 × 4 – 12 + 5 ÷ 3 = 420
 (d) 36 – 12 × 6 ÷ 3 + 4 = 60

funZs'k (iz- la- 30&31)% uhps nh xbZ tkudkjh ds vkèkkj 
ij ç'uksa ds mÙkj nsaA

WGM ykbV~l daiuh us Hkkjr ds pkj esVªks esa ls vkB 
ykbV& Q] R] S] T] V] W] Y vkSj Z ykWUp fd, gSaA 
2019 esa Ng eghus dh vof/ ds ckn ,d ds ckn ,d 
ykbV~l ykWUp dh xbZ FkhA ftl Øe esa ykbV~l ykWUp 
dh xbZ Fkh] og fuEu Øe ds vuq:i gS%
(i) V dks Y vkSj Q nksuksa ls igys ykWUp fd;k tkrk gS
(ii) Q dks Z ds ckn ykWUp fd;k tkrk gSA
(iii) T] V ls igys ykWUp gksrk gS ysfdu R ds cknA
(iv) S dks V ds ckn ykWUp fd;k tkrk gSA
(v) R] W ls igys ykWUp fd;k tkrk gSA
30. fuEufyf•r esa ls dkSu&lk dFku lR; gks ldrk gS\
 (a) Y ykWUp gksus okyh nwljh ykbV gSA
 (b) R ykWUp gksus okyh rhljh ykbV gSA
 (c) Q ykWUp dh tkus okyh pkSFkh ykbV gSA
 (d) S ykWUp gksus okyh ikapoha ykbV gSA
31. D;k Z ykWUp gksus okyh lkroha ykbV gS] tks fuEu 

esa ls ,d gks ldrh gS\
 (a) W ykWUp dh tkus okyh ikapoha ykbV gSA
 (b) T ykWUp gksus okyh pkSFkh ykbV gSA
 (c) R ykWUp gksus okyh nwljh ykbV gSA
 (d) V ykWUp gksus okyh NBh ykbV gSA
32. fn, x, fodYiksa esa ls lacafèkr 'kCn dks pqfu,A
 vksMksehVj% ekbyst % % dEikl% \
 (a) xfr  
 (b) yach iSny ;k=kk 
 (c) fn'kk  
 (d) lqbZ
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33. dkSu&lh mÙkj vkÑfr;k¡ ç'u vkÑfr ds çfr:i dks 

iwjk djsxh\

 (a) 1 (b) 2
 (c) 3 (d) 4
34. nh xbZ mÙkj vÑfr;ksa esa ls ml mÙkj vkÑfr dk 

p;u djsa ftlesa ç'u vkÑfr fufgr gSA

 (a) 1 
 (b) 2
 (c) 3 
 (d) 4
35. nh xbZ mÙkj vÑfr;ksa esa ls ml mÙkj vkÑfr dk 

p;u djsa tks ç'u vkÑfr dk niZ.k çfrfcEc cukrk 
gSA

 TERMINATE
 (a) ETANIMRET  (b) 
 (c)  (d) 
36. ;fn 8&vadh; la[;k 789 × 531y 72 ls foHkkT; 

gS] rks (5x – 3y) dk eku D;k gksxk\
 (a) 0 
 (b) –1
 (c) 2 
 (d) 1
37. jktw dh vk; mlds •pZ ls 20» vf/d gSA ;fn 

mldh vk; esa 60» dh o`f¼ gksrh gS vkSj mlds 
O;; esa 70» dh o`f¼ gksrh gS] rks mldh cpr esa 
fdrus çfr'kr dh o`f¼ @ deh gksrh gS\

 (a) ;g 10» rd ?kV tkrh gSA
 (b) ;g 2» de gks tkrk gSA
 (c) blesa 10» dh o`f¼ gksrh gSA
 (d) blesa 2» dh o`f¼ gksrh gSA
38. ABC vkSj CDE ledks.k f=kHkqt gSaA ∠ABC = EC] 

DE = 90 °, D, AC ij vkSj E] BC ij fLFkr gSaA 
AB = 24 lseh] BC = 60 lsehA ;fn DE = 10 lseh 
gS] rks CD dk eku gS\

 (a) 28 lseh
 (b) 35 lseh 
 (c) 25 lseh
 (d) Kkr ugha fd;k tk ldrk
39. (cosθ – sinθ) dk vf/dre eku D;k gksxk \

 (a) 
1
2

 (b) 1
2

 (c) 2 (d) 2
40. ;fn ` 13,500 nks o"kks± ds fy, 12-5» dh lk/kj.k 

C;kt nj ij tek fd;k tkrk gS rks mldk ifjiDork 
ewY; D;k gksxk \

 (a) ` 16,187.50 
 (b) ` 19,375.00 
 (c) ` 19,375.50 
 (d) ` 18,785.00
41. fuEufyf•r esa ls daI;wVj foKku dk tud dkSu gS\
 (a) ,yu VÔwfjax 
 (b) pkYlZ cScst
 (c) xSjh fdYMkWy 
 (d) fcy xsV~l
42. dkyk taxy dgk¡ fLFkr gS\
 (a) vkWLVªsfy;k 
 (b) U;wthySaM
 (c) teZuh 
 (d) bVyh
43. fdl ns'k esa jk"VªeaMy (Commonwealth) 2022 

vk;ksftr fd;k tk,xk\
 (a) c²e?ke] baXySaM
 (b) xksYM dksLV] vkLVªsfy;k
 (c) Xyklxks] ;wukbVsM fdaxMe
 (d) ubZ fnYyh] Hkkjr
44. USB dk iw.kZ :i D;k gS\
 (a) Universal Series Bus
 (b) Universal Serial Bus
 (c) Universe Series Bus
 (d) Universe Serial Bus
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45. f'kojkt flag pkSgku fdl jkT; ds eq[;ea=kh gSa\
 (a) mÙkj çns'k 
 (b) jktLFkku 
 (c) eè; çns'k 
 (d) egkjk"Vª
46. gokbZ tgk”k dk vkfo"dkj fdlus fd;k Fkk\
 (a) xzkge csy (b) U;wVu
 (c) jkbV cznlZ (d) Cykbl ikLdy
47. efgyk tuukax foÑfr ds fy, thjks VkWyjsal dk 

varjkZ"Vªh; fnol izR;sd o"kZ fdl fnu euk;k tkrk 
gS\

 (a) 5 ekpZ (b) 6 iQjojh
 (c) 4 ebZ (d) 1 vçSy

48. lkSjeaMy dk lcls cM+k xzg gS&
 (a) eaxy 
 (b) 'kqØ 
 (c) o:.k 
 (d) c`gLifr
49. efudk c=kk fdl •sy ls lacafèkr gSa\
 (a) iQqVckWy 
 (b) dq'rh
 (c) Vsful 
 (d) Vscy Vsful
50. vYthfj;k dh eqæk D;k gS\ 
 (a) vYthfj;ku nhukj (b) ;wjks 
 (c) Doka”kk (d) MkWyj
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1. (a) Compatible means (of two things) able to 
exist or occur together without problems 
or	 conflict;	 suited	means	 adapted	 for	 an	
occasion or use.

2.  (c) Abrupt means sudden and unexpected while 
Gradual means proceeding in small stages 
which is antonym.

3. (b) The simplest noun form of compel (verb) 
is compulsion.

4.	 (d)	 Valid	means	legally	or	officially	acceptable;	
validate (verb) means declare or make 
legally valid.

5.  (a) The plural form of the word sheep is sheep.
6.  (d) Ventriloquist means a person, especially 

an entertainer, who can make their voice 
appear to come from somewhere else, 
typically a dummy of a person or animal.

7.		 (c)	 Grossest	means	 before	 any	 deductions;	
other correctly spelt should be genetics, 
Steerage and Granite.   

8.  (b) If someone is making song and dance, you 
mean they are making an unnecessary fuss 
about it. 

9.  (a) The general rule for sentences in simple 
past passive is: 'Object + was / were + past 
participle of main verb (third form)' in an 
affirmative	sentence.	'Was	/	were	+	object	
+ past participle of main verb (third form)' 
in the case of a question. 

10.  (a) The Helping verb of Future Simple tense 
will convert to 'Would' in the Indirect 
(reported) Speech. Tomorrow become the 
next day.

11.  (a) Replace 'A' by 'The'. The is used before 
specified	objects.

12.  (c) Replace 'maker' by 'makers'. One of the/
Many/Most of the + Plural Noun + ….

13.  (b) The idiom 'in thrall' means in a state of 
being	controlled	or	strongly	influenced	by	
someone or something and it is followed by 
the preposition 'to'. Hence, correct sequence 
is 'QRP'.

ladsr vkSj gy
14.	 (a)	 All-purpose	 complements	with	 certified,	

verifiable;	hence,	 the	correct	 sequence	 is	
'QPR'.

15.   (d) Incur: become subject to (something 
unwelcome or unpleasant) as a result of 
one's own behavior or actions. 

  Reap means cut or gather (a crop or 
harvest).

16.  (b) Inveterate means always doing something 
and unlikely to stop which perfectly 
complements with a habit which is here 
smoking.

17.  (d) It is mentioned in the passage that the 
movement of the snakes is deceptive.

18. (b) The snake has an advantage over men inside 
a jungle because there man's movement is 
obstructed

19. (d) Movements help snakes to receive advance 
warning with their sensitivity.

20.  (c) The speed at which a snake normally moves 
is as fast as that of a man.

21. (b) yqIr in gS% 
  6 + 10 × 2 = 26, 11 + 5 × 2 = 21, 8 + 8 × 2 

= 24.

22. (a) 

  ∴ eksgu viuh çkjafHkd fLFkfr ls nf{k.k fn'kk 
esa 22 fdeh- nwj gSA

23. (d) dqy jkf'k = 25 + (10 – 1) × 6
  = 25 + 54 = 79
24. (c) Nk=kksa dh la[;k tks de&ls&de ,d inkFkZ 

•krh gS
  = 9 + 1 + 6 + 3 + 2 + 4 + 5 = 30
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25. (c) fn, x, vuqØe nks  Ük`a•ykvksa dk la;kstu gSa 
  I. 13, 24, 35, 46 , 57 vkSj
  II. 32. 43, ? , 65 , 76
  I vkSj II nksuksa esa iSVuZ + 11 gSA rks] yqIr in 

= 43 + 11 = 54
26. (c) p f g h / p p f f g g h h /p p p f f f g g g h h h
27. (c) firk  –– iRuh
      |
  jkgqy  –– cgw
     |
    iq=kh
  vr% jkgqy firk gSA
28. (b) 

  iafDr esa dqy yM+dksa dh la[;k gSa
  = 36 + 28 – 1 = 63
29. (a) 52 ÷ 4 + 5 × 8 – 2 = 36
  ijLij fpÉksa dks cnyus ij gesa çkIr gksrk gS]
  = 52 – 4 × 5 + 8 ÷ 2 = 32 + 4 = 36
30. (d) ç'u ds vuqlkj]
  V < Y vkSj Q
  Z < Q
  R < T < V < S
  R < W
  fodYi (d) → S dks R] T vkSj V ds ckn ykWUp 

fd;k tkuk pkfg,] blfy, bls 3 ds ckn ykWUp 
fd;k tk ldrk gSA ,d laHkkfor fLFkfr esa 
S dks tc Z ds ckn ykWUp fd;k tkrk gS] rks 
S ykWUp gksus okyh ik¡poh ykbZV gksxkA

  fodYi (a) → pwafd Y dks B ds ckn ykWUp 
fd;k x;k Fkk blfy, V, R vkSj T ds ckn 
ykWUp fd;k x;k Fkk] blfy, tYn ls tYn 
Y ykWUp fd;k tk ldrk gSA

  fodYi (b) → R ;k rks igys ;k nwljs LFkku 
ij gksuk pkfg,A

  fodYi (c) → Q, R, T, V vkSj Z ds ckn ykWUp 
fd;k x;kA

31. (a) ç'u ds vuqlkj]
  RTVSWYZQ

  fodYi (a) lR; gks ldrk gSA

  fodYi (b) lR; ugha gks ldrk gSA

  fodYi (c) lR; ugha gks ldrk gS D;ksafd R 
igys LFkku ij ykWUp gksxkA

  fodYi (d) lR; ugha gks ldrk gSA

32. (c) vksMksehVj ,d midj.k gS ftldk mi;ksx 
ekbyst dks ekius ds fy, fd;k tkrk gSA

  blh çdkj → dEikl ,d midj.k gS ftldk 
mi;ksx fn'kk fu/kZfjr djus ds fy, fd;k 
tkrk gSA

33. (d) 

34.  (b) 

35. (c)
36. (b) 72 ls foHkkT; dk vFkZ gS 8 vkSj 9 ls foHkkT;A 

vafre 3 vad 8 ls foHkkT; gksus pkfg,
  31y ÷ 8
  gesa feyk]
  Y= 2
  vadksa dk ;ksx 9 ls vf/d gksuk pkfg,A

  blfy,] 7 + 8 + 9 + x + 5 + 3 + 1 + 2 = 8 + x
  blfy,] x = 1
  vc] 5x – 3y = 5 – 6 = –1
37. (c) 

  cpr esa c<+ksrjh = 0 1
1
.  × 100% = 10%

38. (c) ∠CDE = ∠ABC = 90°
  ∠DEC = ∠BAC
  DABC ~ DEDC

  

AB
BC

ED
CD

=
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24
60

10
=
CD

  CD = 25 lseh

39. (d) a sin θ + b cos θ dk vfèkdre eku a b2 2+  
ds }kjk fn;k x;k gSA

  a = –1, b = 1

  blfy,] ( )− + =1 1 22 2

40. (b) lkèkkj.k C;kt = 15500 12 5 2
100
× ×.

  lkèkkj.k C;kt = 3875
  dqy jkf'k = 15500 + 3875 = 19375
41. (a) vyku VÔwfjax dks O;kid :i ls daI;wVj 

foKku vkSj Ñf=ke cqf¼ dk tud ekuk tkrk 
gSA mUgksaus V~;w¯jx e'khu ds lkFk ,Yxksfjne 
vkSj x.kuk ds voèkkj.kkvksa dk ,d :i iznku 
fd;kA

42. (c) dkyk taxy nf{k.k&if'pe teZuh ds 
cknsu&oqVsZecxZ jkT; esa fLFkr gSA ;g if'pe 
vkSj nf{k.k ls jkbu ?kkVh ls f?kjk gqvk gSA 
bldk {ks=k 2320 oxZ ehy (6009 oxZ fdeh) 
gSA

43. (a) 2022 dk jk"VªeaMy •sy baXySaM ds cfeZa?ke 
esa vk;ksftr fd;k tk,xkA os yanu 1934 vkSj 
eSupsLVj 2002 ds ckn baXySaM esa vk;ksftr 
gksus okys rhljs jk"VªeaMy •sy gksaxsA

44. (b) USB dk iwjk uke Universal Serial Bus gS ;g 
,d lkekU; IysViQkeZ gSA ;g ;a=k vkSj host 
controller tSls fd PC ds lkFk communicate 
djus esa enn djrk gSA

45.  (c) f'kojkt flag pkSgku eè;çns'k ds 19 osa 
vkSj orZeku eq[;ea=kh gSa] tks iwoZ esa 3 ckj 
blh in ij fuokZfpr gq, gSa] vkSj cq/uh ls  
eè; çns'k esa fo/ku lHkk ds lnL; gSaA

46.  (c) jkbV ca/qvksa us 1903 esa igyk gokbZ tgkt 
dk vkfo"dkj fd;k vkSj mM+ku HkjhA

47.  (b) efgyk tuukax foÑfr ds fy, 'kwU; lfg".kqrksa 
la;qDr jk"Vª }kjk izk;ksftr ok£"kd tkx:drk 
fnol gS tks 6 iQjojh dks euk;k tkrk gSA

48.  (d) gekjs lkSj eaMy dk vc rd dk lcls cM+k 
xzg c`gLifr gS] tks æO;eku vkSj vk;ru nksuksa 
esa vU; lHkh xzgksa ;s T;knk gSA c`gLifr dk 
æO;eku i`Foh dh rqyuk esa 1300 xquk vf/d 
gS vkSj bldk O;kl 1,40,000 fdeh gS] tks 
i`Foh ds O;kl dk yxHkx 11 xquk gSA

49. (d) eksfudk c=kk ,d Hkkjrh; Vscy Vsful f[kykM+h 
gSaA mUgkasus 2020 esa jktho xk¡èkh [ksy jRu 
lEeku izkIr dhaA

50.  (a) nhukj vYthfj;k dh ekSfæd eqæk gSA


